I. Listening Part: 35 4

— . Listen to Chinese, then judge True or False (6 43')

B = [2]EN[c]

Pi turn left
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i go straight :

A. Isth st offi :
7. nz;rgl;a st B. Is there a hospital nearby? C.
8 A. Excuse me, how can I get B. How can I getto the C.
to the clinic? hospital?
9 A. Isthe school close tothe  B. Is the library close to the C.
’ library? school?
10 A. It will take five minutes B. Itwill take 15 minutesto C.
’ to get it by car. go to there by bike

11-20 : Listen to the sentences and select correct meaning to match it.(4x 1=4)

Is restaurant near here

How can I go to the
hotel?

Is the school far away
library?

It will take 5 minutes to
go to there by walk.

= . Listen to the conversation and then select related picture to match.(5x1=5)

12. 13. 14, 13.

9 . Listen to each audio then select the best sentence to respond.(10x
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16, | A RAEMRHMBITH, B, SEIERAIR C.
17 | A & F Rk B. % #eik c.
8. A, 55—k B. kAN @ C.
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4 . Listen to the conversation and answer the questions. (5x1
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